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PreCalculus: Ch. P Review 2 Name: \Lué\___
1. Using the points A(—6,—7) and B(=3,-1), for AB find the:
a. slopeof AB :_;_?;_,%_, 2.
I TE St =t A 4
b. midpoint of AB ( a3 2L\ o L
c¢. equation of the line containing AB, in General Form 'Z‘_’sflf, 2;;_:;'3 2x~-y=-5

d. equation of the circle with AB as its diameter M("‘%,"‘\)} (%29 H (y+u¥ =" (x+%)’4—(5l+4)1'- 4%
3D ) (arany o (criyT
2. AABC joins the points A(—7,6), B(—5,1),and C(2,—1). Show whether AABC is or is not a right

triangle. .
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3. Determine the center and radius of the circle: 4x? + 4y% + 16x — 4y + 12 = 0.
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4. Sketch the following graphs. Determine any x and/or y intercepts.
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5. Write the equation of each line in General Form.

) —6,4) 2x» 2x¥Yy = -3
a. slope of 4 and passes through (—6,4) Y 0_05
P ek,  lxrhy _lx ¥y = 20
b. passes through (—1,—2) and (—8,4) m~_32 5 (- ,,-.(__7_33
C. passes through (—4,—2) and is parallel to =12 5‘:‘; :‘a b __5#4%:28
\ >Same % D
d. the L —hisector of the line segment that joins (-5, 8) and (—4,5) _X=3y=-2Y
Find mdpr and "L'_ﬁ—‘ = M Ix-3y=C
6. Solve for x. e m=3) 1),,1' (‘%5‘3(17‘)3 4/
a —8(x—2)+5x=-6(2- 3x) M) 5
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d. 8x% —13x — 15 = 0y x= - £ CE-4E@N18) , xe (3% {4 1%
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**change this | {sx=21 +3 = 55 @;‘“‘>‘@;‘ -8 S;ff‘ 5
problem** ' TS Sl X=E
8
f 12 -3x|=2x+4 1z -3x=2x+4 , 12-3% = =(2x+ =D /51_“"__ _
-5x = -3 12-3xe ~ -4 ,
. x= b/ -x=-b
7. Sketch the solution of each: x=10

a. 3(12—x)>364+2x >36-3x 7 3l +2n

b. 3x2+11x — 12 <8 3x*+1u%-20<0
(2x-D(x+5)Y=0 —» x=§.,-5'

C. 4]2x —5| <16 = (2x-5) &4 = 2x-5¢4 mo 2x-5 »-y4
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